1/0d?/ d N dchi™™

[EEY

Ratio to ATLAS

13000 GeV pp tt
[T I | I I I | I I I | I I I | I I I |_
— X (ttbar) (ATLAS semileptonic ttbar) -
& _

N

L i\‘\ |

N\

®
= AN E
_ B _
. m ATLAS N |
| --o-- Pythia 6.428 390 ‘5‘;\.._ _
--£- Pythia 6.428 391 TN
__ --%-- Pythia 6.428 392 TN —
—  --~+-- Pythia 6.428 396 s =
— --¥-- Pythia 6.428 397 —
| --¥-- Pythia 6.428 398 |
T T R N SR
C Xy ]
BB ot
| v '= :&_E;::g ..... =¥======55555-‘-555===-_ —
— s.-!ﬁ555!=5=:=:=’-.-—-_==—=EE¥ —
1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
2 4 6 8 10

Chitbar{t} Njets —4

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


